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Lol R — AR 23,484 | 3,365| 2,970 1,180| 1,833 120 175| 400| 33,527
ERHE R AR 23,484 |3,365| 2,970 1,180 991 120| 175| 400| 32,685
LRl R TR = 4R 23,484 | 3,365| 2,970 1,180| 634 120 175| 400| 32,328
LR R ER 23,484 | 3,365| 2,970 1,180| 1,522 120 175| 400| 33,216
S EL L] — AR 23,484 | 3,365| 2,970 1,180| 991 120 175| 400| 32,685
SRR R =R 23,484 |3,365| 2,970 1,180 333 120| 175| 400| 32,027
BEE TR — LR 23,484 |3,365| 2,970 620| 1,522 120 175| 400| 32,656
BEEHRI 4R 23,484 | 3,365| 2,970 790 991 120 175| 400| 32,295
BN TR — AR 23,484 | 3,365| 2,970 0| 333 120 175| 400| 30,847
Bt EER TR 23,484 | 3,250| 1,120 620| 1,522 120 175| 400| 30,691
MR 23,484 |3,250| 1,120 790| 991 120 175| 400| 30,330
Bt EER TR 23,484 | 3,250| 1,120 0| 333 120 175| 400| 28,882
FERR—FLR 23,484 |3,250| 1,120 620| 1,522 120 175| 400| 30,691
EXRIFR 23,484 | 3,250| 1,120 790| 991 120 175| 400| 30,330
ERR =4 23,484 |3,250| 1,120 0| 333 120| 175| 400| 28,882




